10.

11.

12.

13.

Rachunek prawdopodobienstwa dla informatykow — lista 2

(10p) Na odcinku [0,1] umieszczono losowo punkty L,M.

a) jaka jest szansa, ze $rodek odcinka LM nalezy do [0,1/3]?

b) jaka jest szansa, ze L jest blizej do M niz do 0?
(10p) Z przedziatu [0,1] wylosowano dwa punkty, ktore podzielity go na trzy odcinki.
Jaka jest szansa, ze z tych odcinka da sig skonstruowac trojkat?
(10p) Na nieskonczona szachownicg o boku a rzuca si¢ monete o srednicy 2r<a. Jaka
jest szansa, ze

a) moneta znajdzie si¢ catkowicie we wnetrzu jednego z pol?

b) Przetnie si¢ z co najwyzej jednym bokiem szachownicy?
(10p) Igte o dtugosci I rzucono na podtoge z desek o szerokosci a>1. Jaka jest szansa,
ze igla przetnie krawedz deski?
(10p) Czterej gracze dostali po 13 kart. Jeden z nich zobaczyl przypadkowo u sasiada

a) asa pik

b) jakiego$ asa
Jaka jest szansa, Ze ten gracz nie ma asa?
(10p) Obliczy¢ prawdopodobienstwo, ze jeden z graczy w brydza ma wszystkie karty
jednego koloru. Za pomoca wzoru Stirlinga znalez¢ przyblizona warto$¢ tego
prawdopodobienstwa.
(5p) Znalez¢ prawdopodobienstwo wybrania przedmiotu I gatunku, jesli jest 5%
brakéw, a 80% przedmiotow dobrych jest I gatunku.
(5p) Jest m monet, ale k z nich jest asymetrycznych i orzel wypada na nich z
prawdopodobienstwem 1/3. Wybrano losowo monetg i w wyniku rzutu wypadt orzet.
Jaka jest szansa, Ze moneta jest asymetryczna?
(10p) Przesytamy 1 bit (0 lub 1) przez sie¢ 2n komputeréw potaczonych szeregowo.
Kazdy komputer zmienia warto$¢ otrzymanego bitu z prawdopodobienstwem p.
Komputery dzialaja niezaleznie. Obliczy¢ prawdopodobienstwo, ze na wyjsciu
uzyskamy to co wystalismy.
(5p) Przesylamy ciag sktadajacy si¢ z 0 i 1. Zal., Zze przy przesylaniu 0 przektamanie
nastepuje z prawdopodobienstwem 2/15, a przy przesytaniu 1 w jednym przypadku na
10. Wiedzac, ze otrzymano 0 oraz, ze stosunek liczby wystanych 0 do 1 wynosi 5 do
3, obliczy¢ prawdopodobienstwo, ze wystano 0.
(10p) Trzech strzelcow oddalo po jednym strzale. Prawdopodobienstwa trafien
wynosza odpowiednio 0.6, 0.5, 0.4. Oblicz prawdopodobienstwo, ze trzeci strzelec
trafi, jesli cel zostat trafiony

a) jednym pociskiem

b) dwoma pociskami

¢) trzema pociskami.
(5p) Ktory z przedstawionych systemow sieciowych ma wigksza niezawodnos¢.
Poszczegdlne wezty pracuja niezaleznie i moga ulec awarii z prawdopodobienstwem

p.

(15p) REFERAT: przygotowac referat o losowym algorytmie Min-Cut. Osoby
zainteresowane proszone s3 o wezesniejszy kontakt z prowadzacym ¢wiczenia.



1.4. Application: A Randomized Min-Cut Algorithm

A cut-set in a graph is a set of edges whose removal breaks the graph into two or
more connected components. Given a graph G = (V, E) with vertices, the minimum
cut — or min-cut — problem is to find a minimum cardinality cut-set in G. Minimum
cut problems arise in many contexts, including the study of network reliability. In the
case where nodes correspond to machines in the network and edges correspond to con-
nections between machines, the min-cut is the smallest number of edges that can fail
before some pair of machines cannot communicate. Minimum cuts also arise in clus-
tering problems. For example, if nodes represent Web pages (or any documents in a
hypertext-based system) and two nodes have an edge between them if the correspond-
ing nodes have a hyperlink between them, then small cuts divide the graph into clusters
of documents with few links between clusters. Documents in different clusters are
likely to be unrelated.

We shall proceed by making use of the definitions and techniques presented so far in
order to analyze a simple randomized algorithm for the min-cut problem. The main op-
eration in the algorithm is edge contraction. In contracting an edge {u, v} we merge the
two vertices u and v into one vertex, eliminate all edges connecting u and v, and retain
all other edges in the graph. The new graph may have parallel edges but no self-loops.
Examples appear in Figure 1.1, where in each step the dark edge is being contracted.

The algorithm consists of n — 2 iterations. In each iteration, the algorithm picks an
edge from the existing edges in the graph and contracts that edge. There are many pos-
sible ways one could choose the edge at each step. Our randomized algorithm chooses
the edge uniformly at random from the remaining edges.

Each iteration reduces the number of vertices in the graph by one. After n — 2 it-
erations, the graph consists of two vertices. The algorithm outputs the set of edges
connecting the two remaining vertices.

Itis easy to verify that any cut-set of a graph in an intermediate iteration of the algo-
rithm is also a cut-set of the original graph. On the other hand, not every cut-set of the
original graph is a cut-set of a graph in an intermediate iteration, since some edges of
the cut-set may have been contracted in previous iterations. As a result, the output of
the algorithm is always a cut-set of the original graph but not necessarily the minimum
cardinality cut-set (see Figure 1.1).



1 3 1
3.4 1,34 1,2,3,4
2 4 2 2
(a) A successful run of min-cut.
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(b) An unsuccessful run of min-cut.

Figure 1.1: An example of two executions of min-cut in a graph with minimum cut-set of size 2.

We now establish a lower bound on the probability that the algorithm returns a cor-
rect output.

Theorem 1.8: The algorithm outputs a wmin-cut set with probability at least 2 /n(n —1).

Proof: Let k be the size of the min-cut set of G. The graph may have geveral cut-sets
of minimum size. We compute the probability of finding one specific such set C.

Since C is a cut-set in the graph, removal of the set C partitions the set of vertices
into two sets, S and V' — S, such that there are no edges connecting vertices in S to
vettices in V — S. Assume that, throughout an execution of the algorithm, we contract
only edges that connect two vertices in S or two vertices in V — S, but not edgesin C.
In that case, all the edges climinated throughout the execution will be edges connect-
ing vertices in S or vertices in V — S, and aftern — 2 iterations the algorithm returns a
graph with two vertices connected by the edges in C. We may therefore conclude that,
if the algorithm never chooses an edge of C inits n — 2 iterations, then the algorithm
returns C as the minimum cut-set.

This argument gives SOme intuition for why we choose the edge at each iteration
uniformly at random from the remaining existing edges. If the size of the cut C is small
and if the algorithm chooses the edge uniformly at each step, then the probability that
he algorithm chooses an edge of C 1s small — at least when the number of edges re-
maining is large compared to C.

Let E; be the event that the edge contracted in iteration i is not in C, and let F; =
(', E; be the event that no edge of C was contracted in the first i iterations. We need
to compute Pr(Fy—2 ).

We start by computing Pr(Ey) = Pr(F 1). Since the minimum cut-set has k edges,
all vertices in the graph must have degree k or larger. If each vertex is adjacent to at
least k edges, then the graph must have at least nk/2 edges. The first contracted edge
is chosen uniformly at random from the set of all edges. Since there are at least nk/2
edges in the graph and since C has k edges, the probability that we do not choose an
edge of C in the first iteration is given by
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Let us suppose that the first contraction did not eliminate an edge of C. In other
words, we condition on the event F. Then, after the first iteration, we are left with an
(n — I)-node graph with minimum cut-set of size k. Again, the degree of each vertex in
the graph must be at least k, and the graph must have at least k(n — 1)/2 edges. Thus,
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Similarly,
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To compute Pr(F,_,), we use
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Since the algorithm has a one-sided error, we can reduce the error probability by repeat-
ing the algorithm. Assume that we run the randomized min-cut algorithm n(n — 1) Inn
times and output the minimum size cut-set found in all the iterations. The probability
that the output is not a min-cut set is bounded by

n(n—1)Inn
1— _2__ < e—21nn — i
nn—1 n?

In the first inequality we have used the fact that 1 — x < e™™,



